
Algebra II 3
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(-2, 1)
Consistent and independent
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No solution
inconsistent
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Infinitely many solutions
Consistent and dependent
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Plan A: y = 5x + 40
Plan B: y = 10x
(8, 80)
8 games
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Plug it in (yes)
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Combine first two equations (multiply second by -2):
2x+3y+7z=-3
-2x+12y-2z=8
15y + 5z = 5  3y + z = 1

Combine last two equation (just add):
x-6y+z=-4
-x-3y+8z=1
-9y + 9z = -3  -3y + 3z = -1

Combine the combinations (just add):
3y + z = 1
-3y + 3z = -1
4z = 0  z = 0

Substitute  into 3y + z = 1:
3y + 0 = 1  y = 1/3 

Substitute into x – 6y + z = -4:
x – 6(1/3) + 0 = -4  x – 2 = -4  x = -2

(-2, 1/3, 0)
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No Solution
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ANS: Solve 1st for y  𝑦 = −𝑥 − 𝑧 + 6
Substitute this into 2nd

𝑥 − −𝑥 − 𝑧 + 6 + 𝑧 = 6 → 2𝑥 + 2𝑧 − 6 =
6 → 2𝑥 + 2𝑧 = 12 → 𝑥 + 𝑧 = 6
Substitute the solve equation into the 3rd

4𝑥 + −𝑥 − 𝑧 + 6 + 4𝑧 =
24 → 3𝑥 + 3𝑧 + 6 = 24 → 3𝑥 + 3𝑧 = 18 → 𝑥 + 𝑧 = 6
Write the new system 

Solve the 1st for x  𝑥 = 6 − 𝑧
Substitute into 2nd and solve  6 − 𝑧 + 𝑧 = 6 → 6 = 6 many
solutions

Let 𝒛 = 𝒛
Substitute into 𝑥 + 𝑧 = 6 and find x: 𝒙 = 𝟔 − 𝒛
Substitute back into first and find y: 𝑦 = −𝑥 − 𝑧 + 6 → 𝑦 = − 6 − 𝑧 −

𝑧 + 6 → 𝒚 = 𝟎
Solution: (6-z, 0, z)
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ANS: 2 = w, 
x/3 = 5  x = 15, 
y + 1 = -4  y = -5, 
4 = z – 4  z = 8
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[-1,3]
[-1,1]
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[0,-7]
Can’t add because different dimensions
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[15,-6,21]
[-9,24,12]
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*Precip Days = Days with precipitation
Clear Days = Days with no clouds
Ab Norm T = Days with Above Normal Temperature

the total number of days of each type for each city

[27 33]
[34 31]
[14 27]

44



45



46



47



48



49



50



51



52



53



54



ANS: 2(4) – 3(-1) = 8 + 3 = 11
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ANS:     159 + 267 + 348 - 753 - 861 - 942 = 45 + 84 + 96 – 105 
– 48 – 72 = 225 – 225 = 0
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ANS:   ½ (211 + 412 + 15-2 - 211 - -212 - 154)
½ (2 + 8 + -10 – 2 - -4 – 20) = ½ (-18) = -9 
Area = 9
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Notice that the numerator and denominator are the same except for the columns 
containing the coefficients of the variable you are solving for is replaced with the 
numbers from the constants column.
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(-3, 7)
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(-3, 4, -1)
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1’s on diagonal, everything else is zero
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1 0
0 1

70



71



72



73



74



75



76



77


